1+1 Welle: RB: f(0,x)=®(x); 0,f(0,x) =¥ (x) >
f(t, x)——(®(x+ct)+q)(x ct))+ ixj[Ct‘P()T)dx

3+1 Welle Kugelsymmetrie: f (t, r)—§ I Py (F)dr

ct—r

3+1 Welle aIIgemeln' f(0,Xx)=0; 6,f(0,X)=h(x) =>
f(t, x)_— j h(x+ty)ds,

s

1

Green flr Poisson: T = iz j

R®

Sphérische Symmetrie: f =Fjp(r Iradr '+ J‘,O(r rdr’
0 r

1
Diffusionsgleichung: —atf —Af =0;:RB f(x,0)=d(x) =&

© (x )2

F [e “ a(y)dy

Deltadistribution: j S(x-a)dx=1; [ S(x-a)p()dx=0p(a);

f(xt)=

Sf'=—6"f: 5(ax)=|;—|5(><); 36"(X)+x5"(x)=0;
x6(x—a)=ad(x—a);: o(x2-a?) = ||(5(X a) +o(x +a))

O-Symbol: f (X)= O(F), |8i18i26i3"'aik f (7()| = O(rIT

Legendre-Polynome: (x?-1) dr.(x)

= n(xF,(x) = F,4(x))

F(x) :l]E(X tcos(p)Vx2-1)"de; P (x) = 2nlnl dn()(;;_l)n

(n+1)P +l(x) 2n+1)xP,(x) —nP, , (x)
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ijn(x)Pm(x)dx =0; [(Pn(x» =

eiz _e—iz . COS(Z) B eiz +e—iz .
i) 2 )

T e, NT
eaXdX:_' i =
J‘ 22 ; Sin(z)
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sinh(2) =5~ cosh(z) =<

-z

+e
2




